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iv) Standard deviation.
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ii) "Bffiation of each value ffiiii) Average deviation %l

f thermocouples.
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3 a. Exp$ffi operating princffidrarp f5/pr Dvt$ffirfh relevant diagrams.

b. WittfY*foat block diagraffiflain the operalio@of a basic digital multimeter.
# rqery \
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tud*$* *M -ffia.'' A +/z aigitvoltrfrdpr is used for voltpg*e measurement :

& S,. *ffi,Mr) f'md fis mBqluton f,}kii) How @,rT&''12.98V be dispffid on a 10V range

. iiD How woiflld 0.6973Y be dioplaced on lV and 10V range.b' Explain the operation offfial phase meter with a neat sketch.c' Indicate the outstandirffiBlities/characteristics of a DVM.
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@ Module-3

With a neat bffiSttiagrarq describe the working of each stage of CRQ.
What are thepe$rirements of a pulse?

Describe*thdoperation of standard signal generator.
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ion generator.
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6a.
b.

7a.
b.
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Explain the operation of digital storage

With a neat block diagranr, explain the

Explain in details the working of
Explain and derive expression for
Rr = 1200Q, Re = 700C1, R3 =

Describe the working
Find the equivalent
with the followines8jffii

'a neat block diagram.
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l$of an output powerffifur with a neat sketch. (08 Marks)

resistance and capagkfue that causes a Wein's bridge to null

Rr = 2.7K{2, Cr YdpF, R2 = 221<dt, Il4 : 100l(fi with

(08 Marks)

C1 : 0.5prF,

(08 Marks)

(08 Marks)f =2.2W2. M
dl,$b "q
c1&"ffi,

,d. d, d

"&',%"tro
S "qe*--

\#&h

6
;4.

wse
6-.dffi. /-ffi#

,dff,!iM,

2 of2


